129 —%Y b TOEH

fetiR | FMAFTH 260 H

amEeE)a: IRBEHEEEYMIEE
SH4FE6BR
B R

FHMAF O ADIKETDOMEGIERIE. FM2FZ 100 LT 10178, AIAL
TO0.1%DEF. AIFEAALT2.0%DEFERDTz,

EHEMZER<BEEHET 101.7TERY, BTALLT0.2%D LR, BIFREALET 2.0
%D EFREEDT,

SHEBMARUIRNF-ZR<HBEEHL100.1 &Y, ATALLT0.2% D LR, @l
FREALTOIT%D ERFER DT,

1 HEEVMBEROHER

PP EHERER]S AHERRUFIRILF—
o3 TH 7AY =¥ Y =¥

_— BAEE 00 ERUEBIER  pomi0p
103 103 103

102

101

98 R2 R3 e R4 L R2 R} e R4 98 | eeeeeees R2 R3  ——e—R4
97 97 97 —
123 456 7 8 91011 12 123 45 6 7 8 9101112 1 2 3 45 6 7 8 9 1011 12
A A A
=1 HEHEHR. ALK URFERAL
SH3E SFAE
64 78 8 A 98 108 118 128 18 28 38 48 58 68
Eizt5 99.7 99.7, 99.7:100.0:100.1{100.2; 100.1/.100.2{100.8; 101.0; 101.5: 101.6{ 101. 7
et BIELL (%) 0.3/ 0.0/ -0.1 0.3, 0.1 0.1, -0.2] 0.2 0.5; 0.2{ 0.6; 0.1 0.1
BEEBH (%) | -0.2] -0.7. -0.5{ 0.0{ 0.3} 0.8 0.7 0.3 0.9. 1.0 2.3 2.2 2.0
I | EHERER< (1ei 99.7 99.8! 99.7: 99.9:100.1{100.3:100.1/100.11100.5;100,8!101.4: 101.5¢{101.7
B |fate BB (%) 0.1 0.1 -0.1 0.3: 0.20 0.2 -0.2] 0.0{ 0.4 0.3; 0.6; 0.1 0.2
i BEEBH (%) | -0.2] -0.5! -0.2, 0.1 0.3 0.8 0.6/ 0.1 0.6: 0.7 2.1 1.9) 2.0
spaspoT 1BH 99.4; 99.4: 99.3; 99.5. 99.5; 99.5/ 99.3] 99.1: 99.2: 99.3; 99.8 99.8 100.1
FNF—2R< (FIBLL (%) 0.0{ 0.0{ -0.1 0.2 0.0, 0.0 -0.2] -0.1 0.1 0.1 0.5, 0.0 0.2
WalEs  |meEAtoe | -0.6] -0.9, -0.5, 0.4, -0.5/ -0.3, -0.7| -1.3] -1.1 -1.0{ 0.6, 0.5 0.7
it 99.5 99.7; 99.7/100.1: 99.9{100.1:100.1{100.3{100.7:101.1;101.5:101.8:101.8
O [ GLACS
E i) (%) (%) 0.2, 0.2 -0.1 0.3, -0.1 0.3 0.1 0.1 0.5. 0.4 0.4 0.2 0.1
AERABL(%) | -0.5] -0.3{ -0.4f 0.2{ 0.1 0.6/ 0.8 0.5/ 0.9% 1.2¢ 2.5 2.5 2.4

X ZERABEROBABALICDOVWTIX., EHAREELTVS,
) IR RURIERALICDOVWTIE, HHLEFOEHREZAVWTEHEL TV, ARINZIERESE
AWTEHEULREEFE—BULRWVWEENRH S,



